Efficiency vs dr

o 0.0%
<
,0.009
>
70.008
c
$.007
.
%9.006
0.005
0.004
0.003
0.002
0.001

+0)
1.2

Ratio

1.1

[

i

|

=
S
w

[ Efficiency vs dr (track,jet) |

) 1
TP min AR

5003
0.009
e
.008
i<
£.007
>
2.006
c
$.005
&
©.004
0.003
0.002)
0.001

1.0

Ratio

Efficiency vs pu

> 0.0

& b L

e S R

B.008E--+--Feeeieeedeeens b

3] E : : :

@007+ whereeieeee s SN SO S S

= Eoo o

D.006fF -+ SR S S SO

0.008f -+ ereeieneednne. SRR SRR SR S

0.004F -+ eseeivesendieene SRS R N -

0.008F++++bereevieressdonsssdonssnfennsdenne, -

0.002F++--+ieopdoneos S o

0.000--+F----i- +ﬂ .....

E,,”|“”| mm# *+.|||i ”i””

o O ] ] . .

g bt + SN UDE I T
R R Y R0 SRR E R € N PR F ERCTRRS
(X R 4
0.zt

0 3

0 40 50 60 70 80 90 100

Pileup

10
AR(TP, jet)

-1




	Contents
	Page 1


